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BGS]]I What we want to measure

rd/v —vyne)

PDG2014: 1.58 + 0.37 keV Lattice QCD 2.49 + 0.19 keV

Error is large PRD 86,094501
N lineshape

Big difference between different measurements

Interference common phase in Y (3686) — yn, ?
B(y(3686) — yn (25))

(7+2+4) x10™* (PDG2014),
systematic error dominated by B(n.(2S) - KKm)

B(y(3686) = yn,)

(0.34 + 0.05) x 1072 (PDG2014),
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BGS]]I What we have done

2002, @ 71, line-shape
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E i first observation
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; ® Y(3770) = yn:/n:(2S)
3.0 .
Lol S i b R - What we used
g t=0 0 1 11 106 M ¥ (3686) data

2.92 fb! ¥(3770) data.
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w(3686) — yn.

PRL 108,222002
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Simultaneous fit with modified Breit-Wigner (hindered M1).
Significance of interference is of order 150.
(may partly clarify the discrepancy puzzle)



Belle yy Belle yy
CLEO yy 2 CLEO yy
BaBar yy . BaBar yy
| CLEOc J /i CLEOc J /¢
BESII h, ___ BESm A
PDG 12 ave. BESIII ¢ PDG 12 ave. BESIIT ¢
L i° | | L | L L | I | | L L | PD L | | L | I I
2980 2985 2990 20 30 40 50
n. mass (MeV) n. width (MeV)
mass = 2984.3 + 0.6 + 0.6 MeV/c* 2983.9 + 0.6 + 0.6 MeV/c?
width =32.0+ 1.2 + 1.0 MeV 31.3+ 1.2+ 0.9 MeV
Relative phases are consist with ¢= 2.40 + 0.07 + 0.47 rad

each other within 3. The phases are constrained to be same

Suggest a common phase in all the modes.
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